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CH50042 Roll No. § csssccsissssassasnne

Nov. 2022
ENERGY ENGINEERING

Fruifa w36 (s 3% - 60
Time allowed : 3 Hours| [Maximum Marks : 60
A (i) FH-97F Al aF9-G, AT HE |
Note : There are THREE sections in the paper A, B and C.
i) QEA-u T g7 GEar 1 & @t 10 97 F I A | Fedw 97T @ 5% F 8
ua @it 10 9777 TGI8 TFR F TF 71 @ 8 |
Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.
(iii) QwA-a % 8 WA 7 @ Frdl 6 ¥ F IR N | I ¥ 3 3 F1 8 T
§7%1 5 ST / 50 WG 4 I G |
Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.
(iv) QFA- F 6 T B @ [T 4 ¥ & IR GG | TAF I 8 HF 8 T
77 15 %7 / 150 W&GH 4 I Afore |
Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.
() TAE I & @t ] 1 FHAR T G 8 HIT |
Solve all the questions of a section consecutively together.
(vi) @ TIE 7 S g @ Rl 7 st e & A 8 |
Only English version is valid in case of difference in both the languages.
HE -
Section — A
L) P a s e S de T R

e

(a) wHE (b)
(c) formmse (d) b
Which of the following is not a primary solid fuel ?
(a) Wood (b) Peat
(¢) Lignite (d) Coke
(10f4) P.T
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(i) a7 e | A F AN AAFARAE |
(a) e arogsfier (b) d aTorsfic
© (@b (d) s
Bomb calorimeter is used to determine calorific value of _ liquid fuel
(a) highly volatile (b) low volatile
(¢) both (a)and (b) (d) None
(iii) FrAdasRazadwd ?
(a) giferam (b) e Jeare
(c) Hiessd $99 ) (a), (b)d (c) Fi
Which of the followings are liquid fuels ?
(a) Petroleum (b) Petroleum products
(c) Colloidal fuels (d) (a), (b) & (c)all
(iv) 23U G9HE FS 0H & B 9 yfererd &5 SR O 2 |
(a) 30 (b)y 40
(c) 50 (d)y 60
Liquid fuels occupy percentage less space than coal of equal heating
value.
(a) 30 (b) 40
(c) 50 (d) 60
(v) st v it Fae ot Bregienre ufer A A FEedi 2 |
(a) T (b) fieh
(©) IH (d) 18
If lower hydrocarbons are present, the natural gas is called .
(a) rich (b) Wet
(c) dry (d) None
(viy ®EtaE  wfvEagaadi?
(@) 32 (b) 47
© 7 d) 4
CH, percentage in coal gasis
(a) 32 (b) 47
(¢) 7 (d 4
(vii) 979 1 30Ea 3foas geaa™ amm=adn a2
(a) 28.84 (b)y 30
(c) 28 d 32
Average molecular mass of air generally taken as
(a) 28.84 (b) 30

(c) 28 (d) 32
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* (viii) IR | ATEZISH 1 ZeAHH Sfawd AR
(a) 77 (b) 23
© 7 (d 21
Mass percentage of nitrogen in air is
(@ 77 h). 23
() 79 (d 21
(ix) @RF 21
(a) QS (b) &
(¢) ol (@ @f
Solar energyis
(a) Non-polluting (b) Non-depletable
(¢) Renewable (d) All three
(x) @@ ufasd € S Eeere g 36 g |
(a 02-05 (b 05-09
(¢) 06-09 (d 05-1.0
Only _ percentage of solar energy trapped by photosynthesis.
(a) 02-05 (b) 05-09
(¢) 06-09 (d 05-1.0 (1x10)
e — ot
Section - B
R el v we | fafed |
Write in brief on solar energy. (3)
zga stfufrand fafad |
Write down combustion reactions. (3)

afs & & 21% 0, W@ 79% N, Juferd 2 | 39 3itgd uifas ZeAUE HT 9 T4
Hifsu |

If 21% O, and 79% N, are present in the air, calculate its average molecular mass. 3)

ﬁwﬂam%%ﬁwmﬁaﬁamﬁn

Draw neat labelled sketch for manufacture of producer gas. (3)
za Syl o sewo U Eay | fafed |

Write in brief on storage of liquid fuels. (3)
Fa o1 it HIfA |

Classify coal. (3)

P.T.O.
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8.

10.

11.

13.

14.

15.

314, 34 vd g fgdtas $uai & am fafed |

Write names of solid, liquid and gas secondary fuels.

aret 19 Ieqreq 3fuferand va sae e fafed |

Write reactions of water gas production and composition of water gas.

oA - €t
Section - C

ara FeAHTd & "= va HrEgvne i faae Fife

Discuss construction and working of bomb calorimeter.

FAAEAYA THH TSR |

Explain carbonization process.

HI % BIITAvH & ford vy feen Zics webm 6 feraaen 1531 |

Discuss Fischer-Tropsch process for hydrogenation of coal.

3fa foa &amd gu e 18 Iedarea &1 avl Hifsd |

Explain manufacturing of coal gas with suitable diagram.

U 37 AT 97 1 GeAvd avaehard feifed |

Write basic requirements of a good nuclear fuel.

7321

3)

3)

(8)

(8)

(8)

(8)

(8)

B & T H FEAE & IJGER C = 77.7%, H, = 6.8%, N, = 1.2%, S = 2.2%,
0, = 8.8% Td 3.3% @ 39 2 | v Foretium #aa & pof 2g7 & ford saves ag

& o Fifs |

A sample of coal has the following percentage composition by mass C = 77.7%,
H, = 6.8%, N, = 1.2%, S = 2.2%, O, = 8.8% and ash 3.3%. Calculate minimum

quantity of air required for complete combustion of 1 kg of coal.

(8)



